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lim =L =2 5 0o LI 5 0 (70 = 0 LA S

—0 1 — cosx
B 1 —cosx > 0,4 f(x) > 0,00 f(x) £ x = 0 BU/IME. HUM k[ D].
10. [D].
PR BT T 1 BRSO i A 2 M . BT DAAS B 2 B A (e L B AR B« R R
TR BB S BUE S (1) .

S dy = f'(a*)dx® = 2xf "' (") dx,
i LATS 0.1 ==2f"(1)(-0.1),
Bl f'(1) =0.5. [ D]2IERMK.

11. [B].

lim[f'(x+a) =/'(x)] = limf"(Oalx < & <x+a).
A limf"(x) = 0,8 limf"(¢) = limf"(£) =0, i
lim [f'(x+a) =f'(0)] =0.

WO B .
12. [C].
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i lim /(1) ~ ()] = fa) ~f(x) >0, K15 35 > 0,ffix e (a ~5.a +8) I
£ =) > 0, D=EE > 0, i

llm-u)—.(& >0
e (t—x)?
WOV e[ CT.
13. [CL.

SEERE £ () FHRAE Y IE RSO, AR AR T FRED S
¥ f(x) FRATTRE, A
f(x) +f"(x) —e™ =0.
¥x = % fRALER,FH
f"(x,) = €™ - f'(x,) = e™™ > 0.

W f(x) £E v = x, AHAR/MA , i [ C 1A 1E B 5.

14. [B].

PR R B f(x) FEsS & = a REPT T B f(x) WAFESR x = a RS, HILFT A, 45 f(a) #
0, MAAEM x = a B— DR8I f(x) FEZBAE f(a) [F5, P FEZ SN
|f(x) | BUtESETF f(x) BIEETF - f(x), BI [f(x) | TER 2 = a b AT S ATUL[C],[D]
AIETA.

R T HIE I A AT B IER , W R A

B f(x) = a0 =0,f(x) HRA0) =/(0) =0, {HE |f(x) | =fx) =« FES
x =0 &bnl T, AT ULL A R IE®f. TR ZE[ B .

15. [D].

AR e = x + 1 BERE LR KRR (v +1) = af(1) $ f(x) fEx = 1 4bEY

AT S f(x) 76 x = 0 Zby ] PRI R K.

Sr=x+1, W[ =af(r-1). HEGREAT FHELCRFIEWA, (1) £ =1
CIES3ER

fleae)y ., =af' (e =1)(t-1)"1,., =af'(0) = ab.
HOREE[ D .
BRI LHEE

f(l +x) - f(1) T af(x) —af(O) -
16.[B].

TS 16 (a,b) TR, £ e (a,b) I A(x) 76 £ AT, IHTITAE £ AUESE,
lim{ () = f(£)] = 0. FFLARZIEL B

AL AT FIHERR IR KA. BiI4n - b R

foay = frudy 4 =840
AT RIEE S (A) AR TER , i B8
f = { “ji;?"

A RNEE R [ C AN D ] #RAS IE#.

@
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F2E SUSHDY BRBLEISEER
= e : = TN = Fa i e W e L N SN CREES AT

17. [ C].
fx) (=, + ) LRSS (- 5, o) AR
x - %, 0$x<%—,
f(x)
2 - x, —%<x<0,
1 -2x >0, 0<x<%, -2 <0, 0<x<;—,
TR f'(x) = ] f'(x) = 4
2x -1 <0, —?<x<0, 21>0, —?<x<0.
BPx =02 f(x) MIR/IME, (0,0) Lk y = f(x) BB Bkl C].
18.[C].

Bf(x) =2 -2",a=-1,b=1,Mf"(x) =-2x7E[a,b] = [-1,1] B, H
f'la) =f'"(=1) =2 >0,f'(b) =f'(1) =-2 <0.18% [a,b] = [-1,1] E
fx) =1, BMEM S 2, € (a,b) = (=1,1) #Ef(x,) # 0. XRIILEE[ D RAHIRA,
BV D ].

F A BRSP4 o R T R R SR, A

f(a) = lim X 2Ll2) 5

A8 A7 x, € (a,b) , (E5F >0 00 f(x) >f(a), XEMGIE[A]IEH,

ERAATUELS S [ B ] IEH. ﬁWEIﬂLﬁﬁ@ﬁ%ﬁ{Eiﬂﬁf%ﬂrnm[C]IET%.

19.[D].

A (%) E (-, + ) N[, H f(x) = fx +4), PIAX x RF, 45 (2) =
f'(x+4),8f(5) =f'(1).
e (if(”)ﬁﬁ’]’ﬂ]%%lﬁﬁf (5) =-2. F)ﬂ«l [D]

2020 C.

% % — 0 B sin l WA R R, /o] Mg /M, 8

f(xo) - f(a)

limf(x) = lim /TaTsin 5 =0, H f(0) =0.
T f(x) fEx = 0 4b3%ELE Wi A],[ BIAIEH.

[sm—
= lim —sm—xﬁi{ B f(x) fEx =0 Ab AR5 FrLAN %[ C .

x —nJ;

X AR lim
x—)+

L[C].
Hﬂf(x) & (a,b) WATRHL, f(x) 76 [x, 5, ] E&EZE1E (%,,x,) I’\]_I@ F A% B
H o EE R AR — A €,
f(x) = flz)) =f'(§) (2% %), % <€ <x,
Freiniik Cl. P f(x) 7 (a,b) WAIRAL, f(x) 7E [a,b], [x,,b], [a,%,] %

[s]



